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  Sample Paper – 2012
Class – IX
 Subject – Physics and Chemistry

Section A (1 Mark each)
Q1.
An object has moved through a distance. Can it have zero displacement? If yes then give one example.

Q2.
Write one characteristic of particles of matter.
Section B (2 Marks each)
Q1.
Define Tyndall effect. Which type of solutions show Tyndall effect?
Q2.
How does the force of gravitation between two objects change when the distance between them is reduced to half 
Section C (3 Marks each)
Q1.
Give reasons: (a) A wooden table is considered a solid. (b) We should wear cotton clothes in summer (c) The spaces between the constituent particles are maximum in gases.
Q2.
Example the following with the help of examples: (a) Saturated solution (b) colloids.

Q3.
Derive the relation between force and acceleration. Define SI unit of force.
Q4.
A ball is thrown vertically upwards with a velocity ‘u’. Calculate the velocity with which it falls to the earth again.

Q5.
State the universal law of gravitation and derive the expression for gravitational force between two bodies.    
Q6.
The weight of an object on the surface of moon is 3.34 N and its mass on its surface is 1 kg. Calculate its weight and mass on the surface of earth. (g on earth= 10m/s2)

Q7.
A stone of 1 kg is thrown with a velocity of 20m/s across the frozen surface of a lake and comes to rest after travelling a distance of 50m. What is the force of friction between the stone and the ice?                                 

Section D (5 Marks each)
Q1.
How are solutions, colloidal solutions and suspensions different from each other?
Q2.
Explain fusion, vaporization, condensation, solidification and sublimation.
Q3.
(a) Define momentum of a body. Prove with the help of third law of motion that the total momentum of two bodies is conserved during collision provided no external force acts.  (b) A car of mass 1500 kg travelling at 25m/s collides with another car of mass 1000 kg travelling at 15m/s in the same direction. After collision, the velocity of first car becomes 20m/s. calculate the velocity of other car after collision.
Q4.
The velocity time graph of a body is given as follows: (i) State the kind of motion represented by OA, AB.  (ii) What is the velocity of the body after 10s and after 40s?  (iii) Calculate the retardation of the body.  (iv) Calculate the distance covered by the body between 10th and 30th second.                                                  
MCQ
Q1.
The color of sodium chloride and ammonium chloride respectively (a) yellow and white     (b) white and yellow   (c) both are white   (d) grey and yellow.
Q2.
When a true solution is filtered, the residue left on the filter paper is (a) very less in amount   (b) pale yellow in color   (c) large in amount    (d) no residue is left on filter paper.

Q3.
The reaction of iron and sulphur to form iron sulphide takes place (a) at high temperature   (b) in the presence of catalyst   (c) at moderate temperature (d) in the presence of an acid.
Q4.
For finding boiling point of water, it is advised to put the bulb of the thermometer in the steam rather in water. This is to : (a) reduce the error due to atmospheric pressure  (b)  make sure that boiling point obtained is accurate even when water sample contains non volatile impurities dissolved.  (c) Reduce the error due to expansions of glass because of heat. (d) Obtain the boiling point accurately even in such a shorter time. 

Q5.
The equipment required to prepare iron sulphide by heating a mixture of iron filings and sulphur powder is : (a) petri-dish  (b) watch glass  (c) china dish   (d) beaker.
Q6.
The sequence of steps taken for separating a mixture of ammonium chloride sand and common salt is: sublimation, adding water, filtration, and evaporation.   (b) evaporation, adding water, filtration, sublimation   (c) Filtration , evaporation, sublimation, adding water   (d) Evaporation, sublimation, adding water, filtration.
Q7.
The process of melting is also known as: (a) Fusion    (b) ice point    (c) Freezing point    (d) Latent heat of fusion.
Q8.
The heating of copper sulphate is: (a) Chemical change   (b) Physical change   (c) Both chemical and physical change    (d) None of these.

Q9.
Alcohol from a mixture of water and alcohol can be separated by:  (a) filtration   (b) fractional distillation    (c) chromatography    (d) centrifugation.
Q10.
The conditions for the liquefaction of gases are: (a) High temperature, high pressure    (b) low temperature and low pressure    (c) Low temperature and high pressure    (d) High temperature and low pressure.

Q11.
When magnet is rolled in the mixture of iron and sulphur then: (a) iron particles do not cling to the magnet    (b) iron particles cling to the magnet     (c) iron and sulphur both cling to magnet     (d) none of these.

Q12.
A body is rotating along a circular path with constant speed, its  (a) acceleration is zero    (b) velocity is uniform   (c) acceleration is fixed   (d) none of these.
Q13.
(a) A 8000 kg engine pulls a train of 5 wagons, each of 2000 kg along a horizontal track. The engine exerts a force of 400 N. If the track suffers a friction force of 5000 N, then calculate: (i) the net accelerating force.   (ii) The acceleration of the train.  (iii) The force of wagon 1 on wagon 2.
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